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The position vector of a point R dividing a line segment joining the points P and Q whose position vectors
-

are @ and B respectively, in the ratio 7
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(i) internally, is given by m+n

mb
(i) externally, is given by m—n

nd

The scalar product of two given vectors @ and 8 having angle 8 between them is defined
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Also, when 2. Bis given, the angle ‘&' between the vectors @ and 3 may be determined by
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1f 8 is the angle between two vector @ and b, then their cross product is given as
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7xb:\7\‘b‘smﬂ.n a . . ining @ and T,
whereflis a unit vector perpendicular to the plane containing @ and 3. Such that
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d, b,7 form right handed system of coordinate axes.
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If we have two vectors @ and B given in component form as @ = ati + asj +ask
e &

and b =bii +b2j+ b3k and Abe any scalar, then,
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@+ b =(a1+b1)i+ (a2 +b2)7 + (az +b3) k

AT = (Aa1) i+ (Aa2) T+ (Aaa) &

N
d.b = aiby + azby +asbs





